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Q1

In the following question, below are Q1

given some statements followed by

some conclusions. You have to take

the given statements to be true even

If they seem to be at variance with

commonly known facts. Read all the

conclusions and then decide which

of the given conclusions logically

follows from the given statements,

disregarding commonly  known

facts.

Statements:

Some pink are not yellow.

All orange are pink.

Some green are yellow.

Conclusions:

l. All oranges are green.

Il.  Some pink are not orange is a
possibility.

(A) Only I follows

(B) Both I and Il follow

(C) Only Il follows

(D) Either I or 1l follows

LOGICAL & ANALYTICAL REASONING & DATA INTERPRETATION

fa3 I yrs 9, &t JY qus 3
J1e I& M3 BaT & gmfe 99 fHS 3
e I&| 3T7g 3 IT JEst § He

HaSTJ=an, 1< fog wd 71 /ie 3g
3 W& AR I | A THfen § U3
W3 W 7 HiYe 381 €t ydeg i3
faat gHsT 94 fq i3 are ffenrt fi&d
faaa/fagz i3 9 JEat & ugar

Jd/dde J/Ja |

JES :

I3 g WS st ga|

A H3d gt Ia |

3 JJ Uis I& |

fHe:

. AIHIIII IS

. dJ9 J&HE T H3d JIT
HI& &t

(A) fAgg s aderd

(B) 1M3 11 € UBIT dde IS

(C) fAge N s aderd

(D) A3 I fed Il USTT FIeTJ
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Q2

In the question below three Q2

statements are given, followed by

two conclusions, | and 1. You have

to consider the statements to be true

even if they seem to be at variance

from commonly known facts. You

have to decide which of the given

conclusions, if any, follows from the

given statements.

Statements:

All grapes are orange.

Some grapes are fruits.

Some kiwi are fruits.

Conclusions:

l. Some Kiwi are grapes.

I[l.  Some oranges are not Kiwi.

(A)  Only conclusion I follows.

(B) Only conclusion Il follows.

(C) Both conclusion 1 and Il
follow.

(D) Neither conclusion I nor I

follow.

Jot i3 g Aers feg & ffont | »i3

|| T UEE JIe 98 36 986 fio3 are

I&| 3T qES A He U 90

€37 »my 39 '3 fapur3 381 3 2y I

fEIUfd3 JI&T Uear fd fia3 are

(o7 &}

2d!

fifentt 4 1 It J 3, fagz 3 Ire

JE&T T UEE JIa7 J|

JdYA:

AT »igrd, H3d J&|

I3 1igd, €8 I5|

9 o<, 8% Ia|

fie:

. g3l »igd Ia|

1. g3 HII, it adi Ia|

(A) AT fiaT | U gIe1 J|
(B) IAZ fiaT Il UBE FaT J|
(C) AT IM3 N UBTIIL IS
(D) & difHer a1 UseE ade

Jaol
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Which one set of letters when Q3  »fydt ¥ g3 Ay A< PHed i

sequentially placed in the gaps in the IJI »iYd B3 2 wizgst 3 Iign 7iar
given letter series shall complete it? ﬁgifgﬂggawaaw?

hv_a _vb_h_b_ hv_a vb_h _b_

(A) hbvab (A) hbvab

(B) Dbhava (B) bhava

(C) avbhv (C) avbhv

(D) vbavh (D) vbavh

Find the missing letters in the Q4  Uds feud JU3 »iydi § ¥3|

pattern:

YZ Q XY PR
YZ Q XY PR
(A) PXRZQ
(A) PXRZQ
(B) XPQRZ
(B) XPQRZ
© XPRZQ (C) XPRZQ
(D) XZRPR (D) XZRPR
In the following question, select the Q5  I& a3 yis feg, i3 J2 feamui fed
related letters from the given F?ETEBWTHEIT§E€I

alternatives.
AZYB : CXWD :: EVUF:?

AZYB :CXWD :: EVUF :?

~ oron (A) GTSH
® GsTH (B) GSTH
(C) GSHT (C)  GSHT
(D) GTPH (D) GTPH

5|34/DA



Q6

Q7

Q8

In a family, H is daughter of A. M, Q6
A’s sister has a son R and daughter

S. C is mother of K. K is brother of

H.

How is H related to C?

(A) Daughter

(B) Sister

(C) Brother

(D) Mother

R, S, T, U, Vand W are six family Q7
members. W and U are a married
couple. V is son of U, who is not the
mother of V. T is daughter of W,
who is sister of R. S is brother of U.

How is V related to T?

(A) Father

(B) Brother

(C) Mother

(D) Sister

In the following question, select the Q8
odd letter cluster from the given
alternatives.

(A) WSOK

(B) MHCX

(C) FBXT

(D) SOKG

ffq ufgea fg, H, AT U3 JI ™,
AIT I e M3 R I »3
SRS IIC, KTAHITII K HE
IITJI

H T C &8 ot famar 32

(A)  FY3t

(B) I

(C) 3Ia

(D) W3

R, S, T,U, V3 W & ufdgeda Had
TIs1 W i3 U g femrgzr iz J1 v,
UT Y33 T AV HIT & JI T,
W& SR ARESTIIS, UT
IITJI

VT T 318 ot fgmsr 32

(A) fuz

(B) 3

(C) W3

(D) I

Jot a3 yis 29, i3 92 feqmyt fe
NS niydi § 93|

(A)  WSOK

(B) MHCX
(C) FBXT
(D) SOKG
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Q9 In the following question, select the Q9  J&t 3 yma 1, o3 I feamui fied

odd word from the given INS < 93|
alternatives. A) BYEG
(A) Lucknow
(B) d
(B) Ranchi
(C) Patna (C) Hea!
(D) Indore (D) féq
Q10 Which answer figure will complete Q10 faazr €33 f¥39, yms 39 f<9
the pattern in the question figure? VIS Q Yd' Iddm?
(0] |[®] @l |[@
@ - ol .
(A) (A)
(B) (B)
(©) (C)
(D) (D)

7134/DA



Q11 In the following question, select a Q11 Jot fid3 Ymw g, 919 feamut fed

figure from amongst the four g iEg & v MR & fifzg e
alternatives, which when placed in T N

the question mark of figure would g <9 3 gEFﬁ |
complete the pattern. Ah
A A
AlA A
A A 2 |a
A
2 |a
A
A
A
A (A)
(A —
N A
A
(B)
(B)
A
A A
A (C)
(©)
2 A
A o) =
(D)
Q12 Inacode language, if Q12 fEq oz 3w feg, Aad
‘A @ B’ means ‘A is wife of B’ ‘A@ B TTH3®BY ‘A, B Tl U3at O’
‘A $ B’ means ‘A is son of B’ ‘A$ B TTH3ISEY ‘A, BE”;TBH?[’
‘A > B’ means ‘A is brother of B’ ‘A>B’€T)-B'<V>'8‘A,BET§EF?I’
Which of the following means O is feget fed for e v3sg dfq o, N T
the son of N? Y33 30
(A) OSM@N (A) O$SM@N
(B) N$O>M (B) N$O>M
(©) M>0@N (C) M>0@N
(D) N>0@M (D) N>0@M

8134/DA



Q13

Q14

Q15

In a certain code language, 'BAG'is Q13 f&& y™H o3 3T feg, 'BAG' § '101'

written as '101' and 'CAB' is written
as '37'. How will 'BAD' be written in
that code language?

(A) 65

(B) 50

(C) 122

(D) 82

In a certain code language, 'N' is
written as '28' and 'POT" is written as
'323040'. How will 'PET" be written
in that code language?

(A) 321040

(B) 312040

(C) 302140

(D) 302014

Gaurav walked 12 m towards north,
took right turn and walked 15 m. He
took a left turn and walked 15 m. He
took a left turn and walked 30 m. He
again took a left turn and walked
27 m.,

How far is he from his initial
position?

(A) 25m

(B) 18 m

(C) 20m

(D) 15m

Q14

Q15

W3 'CAB' § 37" © gu &g fafn
e J1 87 o8 3T <9 'BAD' § fa<
St Fram?

(A) 65

(B) 50

(C) 122

(D) 82

fea ytH 93 I 38, 'N' & 28" 013
'POT' § '323040' fasfmr AfeT J1 €R
3 g <9 'PET § fa< fafimr
HadIm?

(A) 321040

(B) 312040

(C) 302140

(D) 302014

Jige €33 <5 12 m 3fgnr, HA ufnr
W3 15 m 3fdfTl BT ¥e Hfsm »3
15 m it BI ¥ HiPM %3 30 m
3fan| Ba TadT 48 Ui »3 27 m
i
SISt g3t Afet 3 fdat ga 92
(A)
(B)
(©)
(D)

25 m
18 m
20 m
15m
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Q16 From his office, Saurabh went to Q16 Hd< MU ¥23d 3 TYE <5 30 m

Q17

Q18

30 m to the south. Then he turned
east and covered 40 m. Then he
turned north and covered 30 m.
Finally turning to the west, he
covered 20 m.

How far was he from the starting
point?

(A) 30m

(B) 20m

(C) 15m

(D) 10m

From the given options, which part Q17

of the figure shows Artists who are
Lawyer too?

Teachers

)
\/ p— Artists

Q . aWryETS

A T
B) Q
C) S
(D) R

Select the option that is related to the Q18

fourth number in the same way as the
first number is related to the second
number.

729 :6561 ::7:625

(A) 25

(B) 125

(C) 55

(D) 75

farrT1 B9 fed yaa <8 Hizamm w3 40
m T Tt 3 13t B feg €33 <=
i w3 30 m <t Tt I S
WIad UsH <8 H3T I8, BAS 20
m T gt 3 A3

Ba mud g3t fig 3 fdat ga Hiz
(A) 30m

(B) 20m

(C) 15m

(D) 10m

fa3 Ir feasyt fed, fd3g @ faax
fdam Qaal @& (Artists) &

TIAET J A TS (Lawyer) T T&?
K N/M -
(A T
B) Q
C) S
(D) R
Sn feagy & 93 7 98 &9 &%
TEU3 J B8R 3g AR ufas dsg e

&9d 518 7AEU3 J
729 : 6561 :: ? : 625
(A) 25

(B) 125

(C) 55

(D) 75

10 [34/DA



Q19 Select the option that can replace the Q19 §g feamy g& 1 Jof et B3t f<g

Q20

question mark (?) in the following

series.

43,51, 78, 142, 267, ?
(A) 483

(B) 375

(C) 610

(D) 518

Find the figure from the answer Q20

figure that will replace the question

mark (?) from the problem figure.

T

X
@ e
=1
5 &
l|e=
o |
%
(D) =1

Y g (2) § ow Aerer |
43,51, 78, 142, 267, ?

(A) 483

(B) 375

(C) 610

(D) 518

G393 fg3g fed Go fd3a w3 9, &
Y fo3d <9 yrs fdg (o) <€t g 3
Yedn|

FEEL
13 |+
%
@ e
=0
[
l|&
o |
3
D) =1

11|34 /DA



Q21  Select the correct figure: Q21 W AE3ITE

0] |©]|A]|@ o] | O] |4 |@
(A) B (A) B
B) C (B) C
(C) D (C) D
D) A (D) A

Q22 C,D,P, R, E GandF are seven Q22 C,D,P,R,E,G 3 F ffgufgegfig

members in a family. P is not mother H3 H9d I51 P, D €t 3T &dt d Ud
of D but D is son of P. C is married D, P @ AY3J JI C = fand p 515
to P. E is the brother of P. F is brother I I E, P ITIIF, DT IT
of D. R is daughter of C. G is wife of 3 R,CEﬁﬂl\I'S’é]?Il G,E@LBF'T?II
E.

RTTP &8 ol fgmaT IJ?
How R is related to P?

(A) Father A R
(B) Daughter (B) Y
(C) Mother €) HI
(D)  Sister (D) 3T

12 [34/DA



Q23 How many Engineers are there who Q23 fdd f&dlaid (Engineers) I& =

Q24

Q25

are not Doctor?

Artists
A

Doctors

Engineers
(A) 5
(B) 18
(C) 23
(D) 33
Praveen walks 50 km towards the
north. He turns to the right and walks
24 km. He turns to the left and walks
80 km. He again turns to the left and
walks 20 km. Finally, he turns
towards the south and walks 150 km.
In which direction is the starting
point from the finishing point?
(A) North-East
(B) North-West
(C) South-East
(D) South-West
It is Monday today. What day will be
the next day after 2 days from today?
(A)
(B)
(®)
(D)

Sunday
Thursday
Monday
Friday

Q24

Q25

3192d (Doctor) &l I&?
:\rtism
18 /.
N
15 18
16
f 18 E
Doctors
Engineers
(A) 5
(B) 18
(C) 23
(D) 33

Yts €33 T8 50 km T8 I @I A
UTH 28 HIT J M3 24 km T8 J|
89 ¥ ym B HIT I 3 80 km
oo J1 B0 fed d8 ym B HIT I
3 20 km T8 J| »i3 feg, Qo U
B HIT J W3 150 km B J|
Yt fig 3 wids fig fam fom <9
I
(A)
(B)

§39-ya

§39-UgH

(C) TuT-yde

(D) <TYT-UsH

»H AHEd JI »id 3 2 fost gmie
WIS fos fgaz deam

(A) W3

(B) <Id<d

(C) HHed

(D) HIIed

1334 /DA



guestion and two statements

numbered | and Il given below it.

You have to decide whether the data

provided in the statements are

sufficient to answer the question.

Read both the statements and give

answer:

In which direction is Shekhar facing?

I- In the early morning Shekhar
was standing in front of a
puppet and the shadow of the
puppet was falling to the right
of Shekhar.

[1-  In the early morning Shekhar
was standing on the ground.
His shadow was falling behind
him when he turned to his left.

(A) If the data in statement | alone
are sufficient to answer the
guestion, while the data in
statement 1l alone are not
sufficient to answer the
question

(B) If the data in statement Il
alone are sufficient to answer
the question, while the data in
statement | alone are not
sufficient to answer the
question

(C) If the data given in both
statements, statement | alone
and statement 1l alone are
independently sufficient to
answer the question

(D) If the data given in both
statements | and Il together
are not sufficient to answer the
question

Q26 The question below consists of a Q26 J&t i3 yms 29 ffa yma »3 fore

Jat i3 &893 | w3 11 59 2 fors

THS I&| 3T 8 3w 3T U=ar

fa off ferast i 3T fapu 37T yiis

T §37 ¥ 8 Il I 7 &1 7

ﬁMWFUQMQFEWﬁ?@

T fom fom <8 <y faar 7

I-  H<d 33d Hyd (IR JaY3&T &
HIHS HFT Hl M3 Y3t &
ydgret 7Yd ® Ha U U fgar
Hi

- A<D 339 HYd HeTs g ¥
H 7 B wmud ¥g ym Hinr
3t BAT ygeet Err fig U
fagr At

(A) 1 58 fars | fegsm 3
yrs @ €39 ¥ B 7dt I,
< fq fed& fanrs 11 fegs
I YA T €39 T B g
&I

(B) 1 fd& forrs 11 fegst 3
yrs @ €39 ¥ B 9dl I,
< fa s fants | fegsT 31
YHS €1 §3d o< Bdt gl adt
J

(C) = T<t famrst feg 31 fapu
e, fed & fants | w3 fed &
s Il I339 33 3 s @
39T BRI I

(D) H << furst | w3 11 i3 fear
famfr 3Tt fHET & YIS =1 €34
T B A &I

14 |34 /DA



question and two statements
numbered | and Il given below it.
You have to decide whether the data
provided in the statements are
sufficient to answer the question.
Read both the statements and give
answer:

Who among Rakesh, Mukesh, Amit,
Nitin and Sumit is the lightest?

|- Amit is heavier than Mukesh
and Sumit but lighter than
Nitin.

[1-  Nitin is not heaviest.

(A) If the data in statement | alone
are sufficient to answer the
guestion, while the data in
statement Il alone are not
sufficient to answer the
question

(B) If the data in statement Il
alone are sufficient to answer
the question, while the data in
statement | alone are not
sufficient to answer the
question

(C) If the data given in both
statements, statement | alone
and statement Il alone are
independently sufficient to
answer the question

(D) If the data given in both
statements | and Il together
are not sufficient to answer the
guestion

Q27 The question below consists of a Q27 It i3 yms 29 ffa yma »3 fore

Jat fd3 dgd | w3 1| sy 2 fours

THS I&| 3T 5T 3w &t U=ar

fa ot famrat feg 3T fam 31T Y

T §37 ¥ w8 Il I 7 &1 7

femrs U3 w3 Aerg fe:

feF fam T gg 78 3 e I

|- wfH3 T 39 Yol M3 HH3
&8 fmer 3 U3 faf3s &8
liriaf

Il- fof3 T 39 73 3 fomme &t
JI

(A) 7 IS s | fegsr 3
yras @ €39 2T B el I,
< fa foas fous 11 fegs
I YA T €3 T B a1E
&I

(B) 1 fd& forrs 11 fegst 3
yrs @ €39 ¥ B 7dt I,
< fa fod& s | fegsT 3T
YHS €1 §3d o Bt gl adt
J

(C) 7 T fourst g fo3r fap
31, fodst fauts | w3 feq st
s Il 5339 33 3 s @
39T BRI I

(D) # << frst | w3 11 i3 fear
famfr 3Tt fHET & YIS =1 €34
T B A &I

15|34 /DA



Annu, Anil, Amita, Ankit, Amit,
Anita and Ankita. They like different
types of colours from blue, red,
white, black, pink, yellow and
orange, but not necessarily in the
same order. Each of them has a
different profession, namely DM,
SP, SO, CO, DGP, SSP and SI but
not necessarily in the same order.
Annu does not like orange colour.
The SP likes blue colour. Amita and
Anita like blue and yellow, though
not necessarily in that order. Anil is
a DGP. The person who likes orange
colour is an Sl. The SO and the DGP
like white and pink colour, though
not necessarily in the same order.
Anita is an SSP. The one who likes
pink colour, is a DGP. Ankita who
likes black colour, is not an SSP.
Annu is not an SI. Amit, a DM, like
red colour. The CO likes black
colour. The one who likes white
colour is an SO.
Which of the following statements is
true?
(A) SO likes black colour
(B) Amitaisan SSP
(C) Sl likes orange colour
(D) One who likes black colour is
a SO

Q28 There are seven persons, namely Q28 W& W&, wH3T Hifa3, k3, w3

W3 ifg31 5™ 2 H3 fonast a5 1 B&f
& BI%, B, fdaT, I3 e, Ui
W3 H3Jl TY-[Y dd1 YHE I& Ud
Hddl &t fa feR o {9 I gda =
<-4 UHT fAS DM, SP, SO, CO,
DGP, SSP »3 SI J, Ud Addt &1 fa
fen 91 feg d<i
g § A3t 391 urw &t JI SP &
&I 31 UHT J1 w3 w3 widlsT S
&1 e 9 39 3| wfes DGP I
frgs fenadt § Ha3dt darure 4, €9
SI J1 SO »3 DGP § fder w3 grsret
JJ1 ure J Tifa Agdt adt 3 R o
feg I<| »&I31 SSP J1 €9 fenast
g Irsret 9a1 ure J, 89 DGP J|
Wifg3T fang &1 9a1 Ure J, SSP
RIRIR PEIERIRIREE CAs]Y
J, & B I UHE JI CO § AT Idl
yrie J1 89 fouast fang fda Jar
yHe J, SO JI
Jot ffami i fagzr aams HE 9 2
(A) SO QI JdIUHT J
(B) MMH3TSSPJ
(C) SI{HAsAIFUATI
(D) Bafenast A I8 da1 uHe
J,50d
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Q29

Q30

If all the digits in the number Q29
'6231732548' are arranged in
ascending order, then how many

digits remain in the same place?

(A) One

(B) Two

(C) Three

(D) Four

In the following question, select the Q30
number which can be placed at the
sign of question mark (?) from the

given alternatives.

18 | 2 |19 15

98 | ? |65] 98

(A) 24
(B) 20
(C) 28

(D) 32

Had HitmfT '6231732548' & »idi &
T3e gH g ey ozt Aiwr 9, 3
& »id WSt Ufagst gt 7qr 3
gide I8?

(A) One

(B) Two

(C) Three

(D) Four

J5 a3 yr& 19, fie3 e feqsui fied
S At R I I A YIS fdg (7) ©
ES €3 » Fat I

18 | 2 |19 15

98 | ? |65]| 98

(A) 24

(B) 20

(C) 28

(D) 32
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Q31

Q32

Identify the diagram that best Q31 € 3fedmH T Ug™ ad 7 I& it
et fegag 79 3 €34 Hdu &
TIATEE! JI

represents the relationship among

the given classes.

District, State, Country.

(A)

(B)

(©)

(D)

The calendar of the year 2005 was Q32

used before in the year

(A)
(B)
(©)

(D)

(©o

1993

1994

1998

1999

ST g, ©H

(A)

(B)

(©)

(D)

(©o

S 2005 ¥ d834 fernsd ufgst 7
g =3z famr 7

(A)

(B)

(©)

(D)

1993

1994

1998

1999
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Q33 In the following question, select the Q33 Ja 3 yi® feg, fo3 I feasui fed

odd letter/letters from the given NS YT 9T 4|
alternatives.

(A) YQTL
(A) YQTL
(B) BTWP
(B) BTWP
© DVYQ (C) DVYQ
(D) PHKC (D) PHKC
Q34 In the following question, select the Q34 J& f&Y Yia f<g, i3 I feqwui fed
related letter pair from the given HYO3 »ygi € 33 € 9< 94|
alternatives.
LTF:OGU ::?
LTF:0OGU ::?
(A) CRV:XIF
(A) CRV:XIF
(B) TQM:GLN (B) TQM:GLN
(C) NJX:MQB (C) NJIX:MQB
(D) EUW:VFD (D) EUW:VFD
Q35 From the given alternatives, select Q35 fo3 I fegsui fed o mae g3 2
the word which CANNOT be formed &3 91 Hae © »ygt < 293 Jafemt
using the letters of the given word. SJt g 17 HaeT|
IMMEDIATELY IMMEDIATELY
(A) DATE (A) DATE
(B) DIAMETER (B) DIAMETER
(C) LATE (C) LATE
(D) MEDIA (D) MEDIA
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Passage (Q36 to Q40) Study the given table J&t &3 ATt 2 Heg ¥ B i3t Jrd
to answer the questions that follow. IS T il & 93|

The table shows the number of students of & S4-2y 93T o gistfedint fag 3a
different classes of a school participating i g~ oy TS Wit Y-y AHET R

ifferent sports activities. . 0 0 :
d P fefamgent & Hfimn § TaREet J)
Class — VIL] IX | X | Xl X1l

IBH — VI [ IX | X [ X1 ] Xl
Sports
Activity | us gitfett ¢
Swimming | 8 | 15 | 14 | 19 | 14 EGIC| 8 |15 |14 |19 14
Cricket 12 | 15 [ 11 | 19 18 foqare 12 [ 15|11 ] 19| 18
Lawn 13 11 8 7 16 W?’%ﬂ 13 11| 8 7 16
Tennis T=hics 20 (107 | 6] 9
Badminton | 20 | 10 7 6 9 .

TS 12 |10 |16 | 16 | 10
Football 12 | 10 | 16 | 16 10 =

Q36 In which sports activity is the Q36 wHel A3 3 fagdt ¥3 ISifett f&g

participation from class X the least? 73 3 W Frgfterdt J»
(A) Cricket (A) fJdle
(B) Lawn Tennis (B) B Aen
(C) Badminton (C) u3fHes
(D) Swimming (D) 3Jwlt
Q37  In which sports activity did the least Q37 fam 83 dJ=ifedt f&g Ag I U<
number of students participate? fefenrgghi & g1g1 {317
(A) Swimming NBESLE
(B) Football (B) ©IH
(C) Lawn Tennis (C) s fen
(D) Badminton (D) 3w
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Q38 From which class is a minimum Q38

Q39

Q40

number of students participating in
these sports activities?

(A) VI

(B) IX

€ X

(D) Xl

What is the ratio of the total number
of students participating in cricket to
that of badminton from classes VIII,
X, Xl and XI11?

(A) 5:4

(B) 8:5

(C) 10:7

(D) 9:8

What is the difference between the
students

total number of

participating in  three  sports
badminton, football and cricket and
the

participating  in

total number of students

two sports

swimming and lawn tennis?
(A) 43
(B) 58
(C) 66
(D) 71

Q39

Q40

fogst 93 IEifetnt feg We-ule
fefenmaet fan T3 3 Ia1 S 9d I&?
(A) VI

(B) IX

€ X

(D) XI

VI, X, X1 3 X1 7HT31 & fqde feg
Il BT T feforgdt & IS
fare3t T usfies 3 wigu3 diat J?

(A) 5:4

(B) 8:5

(C) 10:7

(D)
ST 3191 &< T fefonradh €t 98
Him w3 © U3 39T W3 IR
fan <9 391 ¥ T fefomrgd
o I Aty f3g dliat %33 I?

9:8

(A) 43
(B) 58
(C) 66

(D) 71
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Passage (Q41 to Q45) Study the given pie- f&3 g2 ytdl.grde @ wifts I3 w3 »idl

chart and answer the questions that follow. »@= T A € A= G|

The pie-chart represents the exports of st grge A 2021 TG & Y- Y JUEMH
different medical instruments by SIX myrgr Sy NHam 3T © f5au3 &

different companies during the year 2021.

The total value of exports was 68 lakh.

TIAET J| fodu3 T 4% HS 268 JY Hi

Exports of Medical Instruments by Various Companies

Exports of Medical Instruments by Various Companies

[RY-]Y JUEHT gug’ AFS W3d ©°

faaw3 |
Q41 Total exports of which of the Q41 Jat f&y 35 Jus f&d fam <t
following three companies is exactly 9% fedu3 2021 oI5 A 8
half of the total export by all the six JUSHT AT IS TS IT3 T ufr 2
companies during 2021? (A) A CandF
(A) A CandF
(B) C.EandF (B) C,EandF
(C) E,D,andA (C) E,D,and A
(D) E,BandD (D) E,BandD
Q42 What is the difference in the value of Q42 D %3 E ©nidT fadu3 © U f&g dtat
exports by D and E? e,
(A) 34,000 (A) 334,000
(B) 346,000 (B) 46,000
(C) 58,000 (C) 58,000
(D) 68,000 (D) 68,000
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Q43 What is the value of total exports Q43 A, C M3 E ©4d 2021 Bd'6 IS

during 2021 by A, C and E taken foagu3 TS diat 37

together?

(A) 326.853M
(A) 326.85 lakh

B) 334.68 BM
(B) %34.68 lakh B)

(C) 236.75 lakh (C) %36.753M

(D) %40.25 lakh (D) 340.25 B

Q44 What is the difference between the Q44 A W3 F @1 {53 T I8 N3 W3

total value of exports by A and F C W3 D ©J f6dW3 © I HS g
together and the total value of export A&t wizg I
by C and D together?
(A) B5TY
(A) 5.5 lakh
(B) 5.8 lakh (B) H83M
(C) 6.8lakh (C) 6.8¥M

Q45 What is the value of exports by B Q45 2021 ¥d'& B ©01d f6aw3 @ H& ot

during 2021? Ry,

(A) %7.55 lakh (A) 37.553BNY
(B) 8.16 lakh (B) 8.16BM
(C) %8.34lakh (C) 28.343TMY
(D) %8.98 lakh (D) 8.98 BN
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Passage (Q46 to Q50) Article 52 to Article
61 of the constitution deals with the duties,
powers and responsibilities of the president
of India. Article 52 and 53 states that there
shall be a president of India, and he is the
executive head of nation and these executive
powers vested on him will be exercised
either directly or through officers’
subordinate to him in accordance with this
constitution.

Article 54 and Article 55 deals with the
process of election of the president. The
President is indirectly elected by an
electoral college comprising the Parliament
of India (both houses) and the Legislative
Assemblies of each of India's states and
territories, who themselves are all directly
elected. According to article 56, once a
person is elected as the president of India, he
shall hold the office for a term of five years,
and there is provision under the article
which allows the president to resign from
the position by addressing a letter to the vice
president under his hand, willingness to
resign. Apart from this, a president can be
removed for the violation of the constitution
by the process of Impeachment. And this is
so called process of

Article

Impeachment is

discussed under 61 of the

MEeT 52 3 MEeT 61 II3 ¥ ITHIIUS €
SIS, IS w3 fefierdhort a7 Hefuz3 J|
"EBT 52 M3 53 THTT J fq 993 T B
JTHIUSt J=dT, W3 BJ ITHSd T I grdTdl
ot I=dm »i3 §R €3 fafg3 feg srgrardt
HI3Mt for Hieus € wigAg fHY 7 GAR
WS WiTTdift Eorrdt g3t ArEditai|

MEST 54 M3 MEee 55 ITHIIUS €t 9 <t
Yfdign™ a7% AEU3 I51 ITHIIUS § »ifHT
3d '3 393 < HAT (&< AEe) W3 9193 ©
IS It w3 YL dnif s ARl °1y
ddTd THH TudT gicnT AT J, 1 ye fig
39 '3 92 7Y T&| MEBT 56 © nigHY, B
TJ A< a5l ford 31 3793 T Iyt gfeonT
HIBIT, W3 A wiger € 3fa3 MfvgT ydu
J 7 Iyt § f¥q U39 Hafus oda »ige
3 wiAgter 2 & wrfaer e J1 W@ T8
Js QU yurs, »iAdter T <t e fom 3
SR T IHcIU § TeTen /1 Ao J|
03 HIeH © fer w3t yfafann 3 Afeurs
BB 61 T 3J3 IIT o131 IrEt JI Afleus
€t BPw It Irrcgust 3 Haew © fEd fiq
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constitution. Violation of the Constitution is
the only ground for Impeachment of
President. The Impeachment charges can be
initiated in either of the houses of the
Parliament with at least one-fourth members
of that house signing the charges and later a
min. 14 days notice should be given to the
President. Then one house should pass this
resolution with a majority of two-thirds of
the total membership of the house and then
send it to the other house. The second house
should investigate the charges and President
will be given the right to appear and to be
represented at such an investigation to prove
his innocence. If the second house also

passes the resolution with two-thirds
majority of the total membership of the
house, then the President stands impeached
from that date. According Article 58, for
being elected as president of the nation,
there are a set of conditions which has to
satisfied, such as, the person should be a
citizen of India, should have completed the
age of 35 and he should be qualified for
election as a member of the house of the
people and further, he shall not hold any
office of profit under the Government of
India, or any state or under any local or other

authority under the control of the said

WTOTg J1 HaeH HAT < fan < Ao Qg nids
o3 71 Ao I& W3 BH ATs © we-ue -
T Hed T '3 IH3THd AdT I W3 IME
&g ffa fife| Imeaust § 14 fes w Bfen
fa3T A< | fed B Aes TAH3 § ARG € 9%
Heg © < 39! 9gH3 &% UH 93 713 fad
TH A6 311 Th ATS § o ©f fid Idal
T J w3 IHCIUS § MUt SdeTd
Y3 & B wifridt At feg Un I »3 dn
J& T wffgarg fE3T Aedr| Add gAJT ATS
3 ATs & 4% HeaT © 39! 9gH3 7%
H3 U 9w J, 31 87 it 3 amequdt 3
HITH IS AieT J| MEET 58 © WGHT,
dTHcd ¥ IHEIUS o g8 7 Bl 99 Ha 3t
I gt § Y1 99&T Agdt 9, i< fa, fenast
3133 T GIIIdd T It I, 35 7S €t g
ydt o3t It Tdiet I i3 B9 9 Bt Wl
JST AT J| B T ATS © HId o o< BEl
a1 I grdier J 13 g, BJ 393 HI,
i {qH g 7 G913 AdATdt ¢ fau3de »itls
oA HETGq #7f Id wEgdt »ts 319 w1 Je
g &df AgT&An| f8q <9 IHedust © 39
3 g3 AT 3 ImiE, B fonast migee 59 ©
3(J3 TR e AT fenm wigdrgi, g, Iigmii
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governments. Once elected as the president,
the person will be entitled to all privileges,
benefits, emoluments and allowances
mentioned under article 59, as long as he
continues in the position.

Judicial Powers

The primary duty of the President is to
preserve, protect and defend the constitution
and the law of India per Article 60. The
President appoints the Chief Justice of the
Union Judiciary and other judges on the
advice of the Chief Justice. He dismisses the
judges if and only if the two Houses of the
Parliament pass resolutions to that effect by
a two-thirds majority of the members
presente The President has the power to
grant pardons, reprieves or remissions of
punishment to any person who has been
convicted by a Court of Law. Apart from
the

‘Emergency Powers’ and whereby the

these  powers, president enjoys
president can declare National, State and
Financial Emergency under Articles 352,
356 and 360

constitutional provisions and the scenario, it

respectively. From the

is clear that a wide range of powers,
privileges and duties are conferred up on the
president.

W3 I3t T JqeTd JdT, 7 39 B mige
3 ¥ Ifder J|

JTHIIYUS! T HEST dd3< HICUTs M3 Id3 ¢
JE5 & MEeT 60 ¥ WMEHD, HIMT M3
I F3aT 1 THCIUS HY 7H S AST 3
dedt femtufsgar @ Hy w1 w3 Jg Hat <

fegast ¥3er J1 87 AAT § IIUH3 e J

Had W3 9<% 3t dt A FAT T T< AT Hoe
Hggt ® © f39ret ggH3 g fom ygre et
H3 UTH Jd¢ I&| THIIYUS! I8 diha ©f
WSS AT T Sigare I faH <t feniarst
W, ardg3 7 7 Wie 9da < 7St J
foat Hasht 3 fewrer, Irrequzt § wHanH
I M@se 352, 356 M3 360 ¢ 3fd3
IHIG Jwcdl, I w3 &3 whigart w
NBE Id A JI feusa feena=t »3
fordtde 3, fog Mmie 9 fa Imeausdt §
fems 3t yErs i3t Aidt 1
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Q46

Q47

Acrticle of the Constitution Q46
deals with the Election of President

of India.

(A) 51-52
(B) 52-53
(C) 53-54

(D) 54-55

The president, the person will be Q47
entitled to all privileges, benefits,
emoluments and allowances
mentioned under article

as long as he continues in the

position.
(A) 58
(B) 59
(C) 60

(D) 61

HAfCUs © »iged 393 ©
JHCIUS! T 9 &8 Hefu3 J|

(A) 51-52
(B) 52-53
(C) 53-54

(D) 54-55

Iieau=t, B foradt A ST mige 3
T Ifde I, wigee T
UG TR I8 A fens wifgagl, &3,

I5UTT W3 33t T JqeTd JedT|

(A) 58

(B) 59

(C) 60

(D) 61
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Q48 The electoral college that elects the Q48

Q49

Q50

President is made up of all the

following, except

(A)
(B)
(©)

(D)

Lok Sabha Members

Rajya Sabha Members
Members of the Indian
Administrative Services
Members of  Legislative

Assemblies

Article Defines the Primary Q49

duty of the President.

(A)
(B)
(©)
(D)

40

50

60

70

What is the term of the office of the Q50

president?

(A)
(B)
(©)
(D)

4 years
5 years
6 years

3 years

IHIIYS € 9 Id& 18T B IIS

B 4 83 d, &
&3 Arfgur = gfen Jer J|
(A) B AI HEg

(B) J™ HI HEd

(C) S35t yamHfed A<l © Hed

(D) feusAgel 2 Heg

___ 7i3ge IHIIuS R Hed 9d3<
& ufgaTfaz Jger J|

(A) 40

(B) 50

(C) 60

(D) 70

JEEIUSt € wige < fiprfre et J?
(A) 4TS

(B) 5

C) 67S

(D) 37®
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Q52

DIGITAL LITERACY & COMPUTER AWARENESS
Q51  With respect to computer processing Q51 fuged Ynfiar miiz & #ey feg,

speed, what is the full form of MIPS?

(A) Millions of Instructions Per
Second

(B) Millions of Instructions Per
Speed

(C) Millions of Instructions Per

Signal

Millions of Instructions Per

(D)
Symbol

The _ enables a computer
system to supply information to
outside world in human acceptable
form.
(A)
(B)
©)
(D)

input unit
storage unit
ALU

output unit

Q52

MIPS T Yda gu ot J7

(A) fiEer wie EAcams ud
AfelzH (Millions of
Instructions Per Second)

(B) THEMmieA »ie EAcams ug
A3 (Millions of Instructions
Per Speed)

(C) fidar »ie fEAcams ud
fHIT®® (Millions of
Instructions Per Signal)

(D) fiEar »ie fEAcams ud
fHg® (Millions of Instructions
Per Symbol)

_ dfyGed Aitfq3 gu feg gag 3

Sfued freH Bt e w3 faerest

SIICiI ECIRECIR:BUSCUR]

(A fesye glse

(B) FWIIATlaT

(C) ALU

(D) »MgeYe e
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Q53 Match the following functions of Q53 dfuged fAder = Jat fid3 st &

computer  system  with its fore °gcs 578 THETG |
description. SIS IS
Function Description
| | fesuféar |1 | gt A <
I | Inputting 1| Saving data and f@ﬁa&ﬁ@w@
instruction to - -
make them readily
available for Quzan q9ege
initial or 38 I 0
additional fqeTE3 A Jda"
processing. | wefdar |2 | GF fedt »3 91 §
Il | Storing 2 | Directing the fogen3 ad& fan
manner and fi¥g firmren
sequence in which
system performs PIIIHG FI |
operation. | deafdar | 3 | 3 i3 foerfes ?:5
Il | Controlling | 3 | Enter the data and féq SifuGeg frma
instruction into a fSd TI9 SI&T
computer system. (A) 1-3, 11-1, 111-2

(A)  1-3,11-1, 111-2
B) 13, 11-2, I11-1
C) I-1,11-2, 111-3
(D) 1-2, 11-1, 111-3 (D) 1-2,1-1,111-3

(B) 1-3,11-2, I1l-1
(€ 1-1,1-2, 111-3

Q54 Through which tab can you change Q54 3l fam 29 It HelqHee <3 feg
Page Orientation in Microsoft U Gdieas & 998 Haw 32
Word? (A) fE&HIE (Insert)

(A) Insert (B) U ®MTET (Page Layout)
(B) Page Layout .

(©) References (C) JEdH (References)

(D) Review (D) df<E (Review)
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Q55 The disk access time depends on Q55 fSHAE WaAA TEH Jat fofami fod

which of the following parameters. fom dagndteg 3 fsggg Jer d
l. Seek time l. Hi 2T
Il.  Latency I, &
1. Transfer rate . <Hgd I
(A) landll A) 131
(B) land Il @ 1w
(C©) land I
(D) I, lland Il © P
(D) 1,131
Q56  Which of the following statement is Q56 J&t fifani fed fagzr JEs 3c
true about dot matrix printer? Nfean fifeq g3 7t 2
l. Non-impact printer | &15-félae fifeg
II. Produces carbon copies . W bt f3nrg 995t
I11.  Character printer . a39eg ﬁ{dd
(A) landll A) 131
(B) Iand Il @ 1w
(C©) land I
(D) I, lland Il © a3
(D) 1131
Q57 A magnetic tape consists of Q57 ¥ Nardfed U &g wiHE S
horizontal row is called . sfes s fagrAwT I
(A) tuples (A) feQus
(B) channels (B) v&S
(C) lines ©) s
(D) sectors (D) flerad
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Q58  Which of the following is an output Q58 J&t fefanft f&d fagz ffa WiaUe

Q59

Q60

device?
(A)
(B)
(C) Projector

(D) OCR

How can we enter data in charts in

MS PowerPoint?

Microphone
Camera

(A)

(B)

Directly enter data into charts

Create a template and enter

data in it

(©)

Type it in word document that

comes with Edit Chart option

(D) Type it in excel spreadsheet
that comes with Edit Chart
option

In MS Word 2019, ‘b * t’ 1s used in
a wildcard search. Which of the

following search results will be

shown?

l. but

Il.  Dboot

1. burst

(A) landll
(B) Iland Il
(C) landHI
(D) I, Handlll

Q59

Q60

fg<fen (output device) J?

(A) HEIdE& (Microphone)

(B) QHEIT(Camera)

© QﬁW(Projector)

(D) OCR

WH MS yregynifde feg grae feg
et fae wied 99 e I

(A) Tae &g fifa gufeg e nieg
Jd HIE Ji

ffq Ju< gereig w3 for &g
3121 nied Iatal

fond <93 3gie <9 ey
JJG 7 Wifge Irde »uds =
&S WMIgET J

fomd wong wEie T
oy Fdigl 7 wifse 9de
WUHG € 1% miger J

MS WORD 2019 e eig3dras
¥ (wildcard search) R b * t* <t
<33 it At I It ot =
faadt ua © &3t fourfemn araam
I =2 (bup)

1. ¥ (boot)

I1l.  gJHZ (burst)

(A) 1311

(B) I3

(C) 131

(D) I, 73111

(B)

(©)

(D)
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Q61

Q62

Q63

Q64

In MS Excel 2019, which shortcut
key is used to get the open options?
(A) Alt+0

(B) Ctrl+0O

(C) Shift+P

(D) Ctrl+P

Print Area icon is found in which tab
of MS Excel 2019?

(A) Page Layout

(B) Insert

(C) Data

(D) Review

IS an input device.

(A) Magnetic Input Character
Recognition

(B) Magnetic Input Camera
Recognition

(C) Magnetic Ink  Character
Recognition

(D) Magnetic Ink Camera
Recognition

A uses a light-

touchy indicator to choose objects on
a presentation screen.

(A)
(B)
(©)
(D)

scanner
microphone
light pen
speaker

Q61

Q62

Q63

Q64

MS WaHs 2019 29 faadt Agcede
I (shortcut key) & =33 ¥& I
feqmut 1 U3T q9& Bt o131 At 97
(A) Alt+0
(B) Ctrl+0O
(C)  Shift + P
(D) Ctrl+P
MS Excel 2019 ® fan 29 &g fie
Tt wretas fser J?
(A) U" ®TET (Page Layout)
(B) T&&HJT (Insert)
(C) 31T (Data)
(D) e (Review)

fiq fesye faefen J1
(A) Wafea fesye  Jdded
GICGIRY)
nadfes fesde oHT
GICGIRY)
Nadfes & Idded
GICGIIRY
(D) NIdfed feq Har Ifaafers

89 Umardt (presentation) A 3
warde d 9¢ 9ds 3o i
JSJ-AUIH HA3d € €93 Jd<T J|

(A) TR
(B) HEISs
(C) wfeeds
(D) Wtad

(B)

(©)
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Q65

Q66

In MS PowerPoint 2019, which of Q65 MS PowerPoint 2019 fég, J&t faf3ni
fed SIHe-39 © faazT Az Adt I?

the following pair/s of function —

tabs is/are correct?

(A)
(B)
(©)
(D)

Which of the following is/are the Q66

Themes — Design

Notes Page — View
Only |

Only 11

Both | and Il

Neither | nor Il

examples of asymmetric encryption

methods?

(i)

(if)

(iii)

(iv)

(A)

(B)

(€)
(D)

Data Encryption Standard
(DES)
Advanced

Standard (AES)

Encryption

Rivest — Shamir — Adleman
(RSA)
Public Key
(PKI)

Only (i), (i) and (iv)
Only (ii), (iii) and (iv)
Only (i) and (ii)

Only (iii) and (iv)

Infrastructure

(A)
(B)
(©)
(D)

J&t

HHA (Themes) - f3afeas
(Design)

&2H U (Notes Page) — <8
(View)

fAde |

fAge 11

|3 112

&3aErdti

ﬁvﬁ . Inv\.

EREVIERE!

WAHSI I (@) fealquas fedi
/At GErgde /Tt I%?

(i)
(ii)

(iii)
(iv)

(A)
(B)
(©)
(D)

a1 fesfqurs AS3d3 (DES)
w3en  fosfquas  A3ds
(AES)

fgere- M- "3®HE (RSA)
YIS off (key) TagmHIIgd

(PKI)
& (i), (i) ™3 (iv)
I (ii), (iii) M3 (iv)
I (i) 713 (ii)

< (iii) M3 (iv)
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Q67  Which of the following command is Q67 fegt fed fam aHiz <t =33 Gisam

used to rename a file in Unix? (Unix) 9 2918 @ & Te8c
(A) cp (rename) ® &&t 3t At 7
(B) m (A) cp
(B) rm
(C) mv © my
@) s D) s

Q68  What is the full form of SIP in VoIP? Q68  VolP f&g SIP =1 yar gu ot 7

(A) Session Initiation Protocol (A) HIG T g3 Yias
(B) Secret Initiation Protocol (B) I3 FIN3 YIdSB

(C)  Session Initial Protocol (C) WIS P Y2dS

(D) Session Incremental Protocol (D) WA fEradHeS YA

Q69 Amount of data that a network Q69 3Tt W3 1 ffd dc<dd IdIHA

connection can transfer per unit of Ut gfse A <t TiAed 93 AaeT J
timeisknownas . e afeq A )

(A) Narrow width (A) I T

(B) Bandwidth (B) H3fezw

(C)  Voice-band (C) <fen-&3

(D) Broadband (D) TIEI
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Q70 Use of 4GHz to 6GHz band of Q70

Q71

Q72

frequencies for transmission and
retransmission of microwave signals
in a satellite communication system
Is called

(A)
(B)
(©)
(D)

Which of the following statement is

C — band transmission
A — band transmission
K — band transmission
S — band transmission

correct regarding VolIP specific

protocols?

l. The signalling protocol handle
the functions derived from the
telephone system architecture.

[l.  The transport protocols carry
the voice packets generated

from the codec.

(A) Onlyl

(B) Onlyll

(C) Bothlandll
(D) Neither I nor Ii

Which of the following commands is
used to create a new subdirectory in
a Windows system?

(A) MKDIR

(B) DIR

(C) CREATEDIR
(D) CDIR

Q71

Q72

HewTEe Had YTl feg HidlgRe

fHIIGST & YATIE M3 U3 YAIS Bl

4GHz 3 6GHz §3 <t a7t <t =33

§_ fagawdl

(A) T - o3 A

(B) @ -3 s

(C) -3 TmHEs

(D) WA - ¥3 TAfHHG

VoIP ¥H Y8 ¥ Hyy 39 I8

f&fimit e faaz g8 A J?

. e Ydads cTies fAreH
Q J38 IaeT J|

Il.  TAUIE Ydds d3d 3 319

<fer Yol & AR I& |

<3 |

Eerl

(C) 731

(D) & dtIM3E I

123 e <9 ¥ o<t Agsedacd]

TG Tl i3t /it 92

(A) MKDIR

(B) DIR

(C) CREATEDIR

(D) CDIR

(A)
(B)
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Q73 Using mail, whatyou cansendtoone Q73 -1 <d3< J8, Wil ffq femast A

Q74

person or a group of persons?

l. Text
. Audio files

I1l.  Video files
(A) Nand Il
(B) I, 1land Il
(C) Onlyll

(D) landll

From end-user perspective, which of Q74

the following services are provided

by Internet?

l. Email
1. Chat rooms

1. Mailing list
(A) Iland Il
(B) Onlyli

(C) I, and Il

(D) landll

feniaStort ® Aga & ot 37 AaR Ji?

. IR

. 3IG Srfegi

1. 336 efesi

(A) 113111

(B) I, 11311

(C) d=HBII

(D) 1431

W3-Yad © &adE 3, I ot i

fagdntt Reret ffegde od YEis
EiEUGISIFURIY,

. @A

1. Y gHA

1. A gt

(A) 11311

(B) d<HBII

(C) 1,31

(D) 1431
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Q75 Which of the following statements Q75

Q76

Q77

related to social networking is/are

FALSE?

(i)  Marketers use social
networking for increasing
brand recognition and
encouraging brand loyalty.

(i)  Social media sites cannot be
used for spreading
misinformation,
disinformation or rumours.

(A)  Only (i)

(B) Only (ii)

(C) Both (i) and (ii)

(D) Neither (i) nor (ii)

When you reach 100000 subscribers Q76

on your YouTube channel, then
which of the following play button
you receive?

(A) Silver play button

(B) Diamond play button

(C) Reddiamond play button
(D) Gold play button

Which of the following is also called Q77

a web directory?

(i) Bing

(i)  Yahoo!

(A)  Only (i)

(B) Only (ii)

(C) Both (i) and (ii)
(D) Neither (i) nor (ii)

Jot i faaz/faar 7S deedfda

& HIU3 I1%3 FEE J/I&K?

(i) HIlacd g3t Us® §<uge
2J3 JI¢ B |

(i) BAS HiFhr A & <33
dI%3 JU&T, Are-89 o o3t Jret
&t St A et

(A) =S (i)

(B) o= (ii)

(C) =< (i) 3 (ii)

(D) &3 (i) &I (ii)

e 3A MU YouTube ©&68 '3
100000 IrJe '3 UJd A I, 3T 3H
J&t fd3 us g 49 faaz yu3
Fde I?

(A) HBIIUS gca

(B) Iz us gea

(C) JHJITUS ges

(D) JBIUY ¥Ih

<t fde I5?

(i) foar

(i) g

(A) < (i)

(B) o= (ii)

(C) == (i) ™3 (ii)

(D) &3 (i) & (ii)
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Q78

Q79

Q80

In which of the following encryption Q78 J&i fofanit fod fagdt fedt fg

methods is only one secret key used

for both, encryption and decryption

purposes?

(A) Advanced
Standard (AES)

Encryption

(B) Rivest — Shamir — Adleman
(RSA)

(C) Public Key Infrastructure
(PKI)

(D) Both, Rivest-Shamir-

Adleman (RSA) and Public
Key Infrastructure (PKI)

Which number do you have to dial to

get your IMEI number displayed on

the mobile phone?

(A) #*06#

(B) *#06#

(C) ##O6#

(D) **06#

Which of the following statement/s

Is/ are not correct about firmwares?

l. Firmwares are responsible for
basic operations of the
hardware of smartphones.

Il.  Firmware are the programmes

that are closely related to the

particular device.

Only |

Only Il

Both I and Il

Neither I nor 1l

(A)
(B)
(©)
(D)

Q79

Q80

< 8 qru3 JHt & (key) =33 11

At d ?

(A) W3ew foafquas w33

(AES)

e Mg M3BHE (RSA)

Ugf&d ot (key) FagmHIdgd

(PKI)

w3 y"fgs o

frsgAdaad (PKI) B<

eSS 86 '3 WS IMEI Hignf

IS FI&1 Y4t

(A)  #*06#

(B) *#06#

(C) ##O6H

(D) **06#

fFI2 86 At a1 I/ I&?

. SIHMI AHICSS Jd3emd
T HS AU B fiHed 76

Il.  SIHeMd BJ YdiaH I& 1 U™H

fafernt &% aadiel 39 3

HEfU3 I8

fAge |

frag Il

| %3 11 22

&3 & I

(B)
(©)

(D) (RSA)

(key)

(A)
(B)
(©)
(D)
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Q81

Q82

Q83

Q84

ENGLISH LANGUAGE

Select the most appropriate option to fill in the blank.
My friend passed the exam at the first
(A) attempt

(B) trial
(C) struggle
(D) task

Select the most appropriate option that can substitute the underlined segment in the
given sentence.
I don’t agree with all his ideas because some of them are fools.
(A) was foolish
(B) are fooling
(C) are foolish
(D) were fools
Select the most appropriate option to fill in the blanks.
We swimming for two hours before it to rain.
(A) have been, began
(B) have been, begin
(C) had been, begin
(D) had been, began
Parts of a sentence are given below. While the first and the last parts (S1 and S6)
are in the correct order, the parts in between are jumbled up. Arrange the parts in
the correct order to form a meaningful and coherent sentence.
S1: Narendra Nath Dutta
a. in Kolkata
bornina

: traditional Bengali family
d. on 12 January 1863
S6: came to be known as Swami Vivekananda.
(A) abcd

(B) cdba
(C) acdb
(D) bcad
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Q85

Q86

Q87

Parts of a sentence are given below. While the first and the last parts (S1 and S6)
are in the correct order, the parts in between are jumbled up. Arrange the parts in
the correct order to form a meaningful and coherent sentence.

S1. With the problem of

a. uncurbed in India

b. the people have to face a constant

C. population explosion persisting

d. shortage of food grains and an

S6: ever increasing cost of commodities

(A) abcd

(B) cabd

(C) dbca

(D) abdc

Select the most appropriate ANTONYM of the given word.
Stubborn

(A) Adamant

(B) Determined

(C) Severe

(D) Docile

The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Sixty minutes / are / enough time/ to finish this task.
(A)  Sixty minutes

(B) are

(C) enoughtime

(D) to finish this task
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Q88

Q89

Q90

Qo1

Parts of the following sentence have been underlined and given as options. Select
the option that contains an error.

The United States have a huge and mighty army, which has helped the country

secure its powerful position in the world.

(A) have
(B) which has helped
(C) its

(D) the world

Select the most appropriate synonym of the given word.

Judicious
(A) Sensible
(B) Inspiring

(C) Agitated
(D) Obnoxious
Select the most appropriate ANTONYM of the underlined word.

It is hard to believe that this is the same urbane man | had met two months back.

(A) Illiterate
(B) Modern
(C) Elderly

(D) Uncultured

NI forTaeTdt &8 wifda Haa 31T T widide migee
(A) | honestly believe that.

(B) | honestly confirm that.

(C) I believe honestly that.

(D) I honestly agreed that.
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Q92 NI 37J8 H3TaL frg Hae &dl & o1 T »idioe wigere J|

Q93

Q94

Q95

(A) According to my experience it cantbe possible.
(B) According to my experience it is not possible.
(C) According to my experience it will not possible.

(D) In my experience it was not possible.

H =ftpu1 3 € 33 I HeEE I9ET I | T T 0igIIH! MgeE I

(A) | have observed, he always try to help you.
(B) | can observed, he always help you.

(C) I have observed, he always helps you.

(D) | have observed, he always helped you.
feyrar 13 I3 1"Td T wididH MeeE JI

(A) Don’t pretend.

(B) Don’t try to pretend.

(C) Don’t show up.

(D) Don’t make show.

WITH BT IO IS famT 'S T »idIdet wigee J|
(A) The image go on going smaller.

(B) The image went small to smaller.

(C) The image grew smaller and smaller

(D) The image reduces smaller to smaller
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Passage (Q96 — Q100) Read the given passage and answer the questions that follow.

In my most frustrated moments of navigating chaotic traffic, |1 close my eyes in the back
seat and imagine what it would be like if some day just a thought would transport me from
one place to another.

At times, sitting relaxed on my terrace, | wonder if some day, just with the power of my
thoughts would | be able to create the image of the most vivid blue ocean and a sandy beach
in front of me? Then having had enough of that, could my thoughts switch the scene to that
of snowy mountain peaks?

Just thinking of these seemingly impossible things gives me a sense of well-being, because
| do believe that if you can think it, you can will it and achieve it. If it occurs as a thought,
it is possible to fructify as reality. After all, everything big started with a thought. Looking
at birds flying freely in the sky, humans must have thought of the possibility of flying
centuries before the invention of aeroplanes. The tallest skyscraper, the longest bridge
across the ocean, the fastest train, the internet, cell phones — all are the end result of one
thought.

As technology advances and we become more confident in our abilities to transform
thoughts to reality, the gap between the ideas and implementation keeps shrinking. Today,
one of the biggest thrills of living is watching impossible-seeming thoughts turn to reality
within one’s lifetime!

None of the big achievements or discoveries in life happened by thinking small. To achieve
big stuff, you have to think big. The most pleasurable moments can be spent imagining
what seems to be the impossible. Believe in yourself and your thoughts. Think beyond the
realms of possibility and then aim to get there. Once there, think much beyond that

possibility too. And then get going once again.
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Q96

Q97

Q98

Q99

Q100

What does the author’s wishlist NOT include?

(A) Being transported by just a thought

(B) Feeling frustrated while navigating traffic

(C) Creating the image of a sandy beach

(D) Switching the image of the ocean to a mountain peak

The author believes that seemingly impossible things can be achieved if:
(A) one takes pleasure in small ideas

(B) one has a lifetime for it

(C) one has a strong will

(D) one has a sense of well-being

Select the most appropriate synonym of the given word.

Vivid

(A) Obscure
(B) Chaotic
(C) Intense
(D)  Fruitful

What is the author’s message to the readers?

(A) Technology can help in accomplishing ideas.

(B) Believe in yourself to realise your dreams.

(C) The invention of the aeroplane came from man’s desire to fly.

(D) Thinking big can provide thrill in one’s life.

The line ‘The gap between ideas and implementation keeps shrinking’ suggests that:
(A) all ideas are being successfully executed

(B) ideas are being realised instantly

(C) more ideas are being generated

(D) more ideas are turning into reality
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